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Run 2191, File 475, Event 979 (beam off)

Event Selection:

350

300 Channel 0,V __ =339, N =2

max pulses
387 ns: 339 mV, 26197 pVs, 188 ns
588 ns: 19 mV, 698 pVs, 80 ns

*  Time requirements:
*  Tag Pulses: 0-700ns
*  Probe Pulses: 280-480ns

Amplitude [mV]

250—

200
391 ns: 13 mV, 87 pVs, 12 ns

422 ns: 6.8 mV, 57 pVs, 13 ns

. Allow multiple hits in probe channel 150

*  Only use first hit (earliest) 100
*  Above Trigger Threshold

376 ns: 88 mV, 3845 pVs, 86 ns
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Run 2193, File 16, Event 990 (beam off)
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S -
£ = : :
Me— 350_ .......... , .............. ,,, (R IR ——— .
3 = : :
ot - DC Ru Channel0,V =358 N =2
= 300 PR PSR- SUURURURSRURE 1 SN S S SO max pulses
g— - Tag CHO 392 ns: 358 mV, 28757 pVs, 229 ns
< 50k E ; : 629 ns: 6.6 mV, 157 pVs, 36 ns
- Probe CH9
200 v et 394 ns: 23 mV, 1004 pVs, 65 ns
150 - Channel 27,V__ =10, N,;.uxﬁ,,»_.: 1
— 396 ns: 9.6 mV, 592 pVs, 85 ns
100 :_ ......................................................
50—
of -
&

Run 2191, File 475, Event 961 (beam off)

400 TR SR ................................................................. -
350 :_ .................. ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
- SC Run Channel 0, Vma:-: =372, Npulses: 2
300 ,_:_ , ...... TagCHO ...................................... 383 ns: 372 mv, 30733 pvs, 225 ns
— ; : : 611 ns: 6.3 mV, 147 pVs, 31 ns
250 — PI’ObC CH9 .................................
200 é_ E ; E ' 382 ns: 255 mV, 8335 pVs, 104 ns
- 490 ns: 16 mV, 121 pVs, 13 ns
150f— 502 ns: 8.1 mV, 65 pVs, 13 ns
- Channel24,V._ =15 N =1
100 - max pulses
- 394 ns: 15 mV, 122 pVs, 14 ns
50 —
TS TST S ST ST T S SN S S S S S NS S S NS S S S
0 100 200 300 400 500 600
Time [ns]
 larger shift time (online-offline) for SC over DC due to
pulse rise time / trigger functioning
* Probe pulse time window: 280-480ns
[ ]

Keep earliest pulse



UC SANTA BARBARA

* 1+ pulses in probe Ch
« DC/SC
 About 3x more statistics

* Single pulse in probe Ch
« DC/SC

Trigger Efficiency
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* 1+ pulses in probe Ch
« TC/DC

* Single pulse in probe Ch
« TC/DC
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Issues re-appear
in DC/SC runs
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To Do:

* Investigate bias effects on SC, DC, TC runs



